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2019
B.Sc.
1st Semester Examination
ECONOMICS (Honours)
Paper - GE 1-T
(Introductory Microeconomics)
Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks,
Candidates are required to give their answers
in their own words as far as practicable.
lllustrate the answers wherever necessary.

Answer any fen questions : 10x2=10
1. (a) What is mixed economy?

(b) What is thé shape of a supply curve?

(c) State the law of demand.

(d) What is "Veblen effect’?

(e) Mention the three stages of short nm production.
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(2)
(f) What is Ridge line'?

(8) What do you mean by diminishing marginal
utility?

(h) Mention any two differences between fixed and
variable cost,

{) What is marginal pI;{iUCﬁVity of labour?

() What is indifference curve?

(k) What do you mean by a budget line?

() What is a Giffen good?
{m) Do all inferior goods obey the law of demand?
(n) What are substitute goods?

(0) What is the shape of demand curve for a Giffen
good?

. Answer any four questions : 4x5=20

(a) What is the difference between perfectly elastic
and perfectly inelastic demand.

(b) When will the demand curve be upward sloping?

(c) Explain the difference between retums to scale
and returns to a veriable factor.



(3)
(d) Why is the average cost curve 'U' shaped?

(e) Distinguish between socialist and capitalist

econonuc system.

(D Distinguish between perfect competition and
monopoly market,

3. Answer any two questions : 2x10=20

(a) Show that, Price effect = Income effect +
Substitution effect. Through this, define giffen
good. ‘ 8+2

(b) Explain the Racardiam theory of rent. In this
context, define Quasi Rent. 8+2

() Explain diagrammatically the concept of total

product, average product and marginal product
for a variable factor.

(d) Explain with the help of indifference curve
analysis, the consumer’s equilibrium for two
commodities at a given income of the consumer
and given prices of the commodities.

[ Turn Over |
1/21-1000



(4)
TG
> ERIE i ey Tag we YOXY
(=) Fry wgifs e
(4) Qi T wfe fomel 2e
(1) oIt Spaib <9
(D) ‘SE HoR FD AA?
(&) wEE Bestmors [ oidfras B a3
(5) ‘TRt @R FF AA?
(2) Faghe AfET Seraiftet e B @Ree

(@) fig a AFRETE FER TG @ @E qH
A1 Tree 3

() AR 24T Teoierierst I 9T

(@) FrRtrs @ T B @Re

(%) ATTT A IS & @Re

(3) e w3 I e

(©) 7w WS w2 & siftne famr oies stere
(%) ~RE w3y FIT A2



-

(5)
() e @a oifd @R g W T3 @R

3 IR vl avde Swa we | gx@

() =iiest Refogets ol o st wfefogreie
sifRwR W0g oS I

() T SR @ TETA et Fow TR of Sraw
A

(o) At IR Al g AfRENT eI
AfSRItR J0g AT FL

() 9% TT G TG U wipfSn o gt
1

(8) TTSIfFT q FSifEF WEGITT WG AT

1

(5) afdtafeiEr ¢ qIshar AT Y
91

©| CIIMA 4 AT TSI MG | SoxY

(F) Crdle (@, WiN 2O = W 2SR + RS asiq|
I YA e JER i we | SN

(4) FITeT Yot wald It 33| 98 2N, A
YTAT AR, WG | b+

[ Turn Qver ]

1/21-1000



( 6)
(s1) aofowE AfRRETE Cogrda ovrg (NG

ol oG o 8 el Sesit wigw B
HLERTH AR T

(F) FATsT @R ARy O IeE (ele et
SHEITH (N2 99 o7 sz wg a3
ToR W 1 Qe



